BSEH Practice Paper (March 2024)

CLASS-12™ (Sr. Secondary) Code: A
Roll No.
ACCOUNTANCY
ATt
[Hindi and English medium]
Time Allowed: 3 hours Maximum Marks: 60
NOTE:
o FAT AT H 6 38 et a7 A 14 Y55 qUT30 g A B

Please make sure that the question paper consists 14 pages and 30 questions printed in it.
o U UF H g% 3R QU IV &3 FR H BT G@aRT I YN & Tgol o6 W for@r e =ifge|

The code number on the right side of question paper should be written by the candidate on the
front page of the answer sheet.

o fRdlY U T I 7 & Ugdl 3TH HHIS [oIGeTT glam|
Before answering a question, must write its serial number.

o TH YU o T HEN &l Uk ATYT gl el
Attempt all parts of a question together.

3l IR G # Grell Jeedl/doet o BIS|
Don’t leave blank page/pages in your answer book.
o 3R YRR & HARFd 3w HIg e AL & Swel| 3T MRISAGIAR & ford g forg 3o
T FIc|
Except the answer booklet, no extra sheet will be provided. Write to the point and do not strike
the written answer.
o TIEMAT 37YAT AT AN URA UF W 32y ford|
Candidates must write their roll numbers on the question paper.
o FUAT YA HT 3R &l & Ugol T ARG Y o o 92T 79 qOT T F@Y &, TET & IWed 38 T
H FIg Y grar TR g1 fHar Suem|
Before answering the questions, ensure that you have been supplied the correct and the complete
question paper. No complaint in this regard, will be entertained after examination.

General Instructions:
1 This question paper comprises two Parts — A and B. There are 30 questions
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in thequestion paper. All questions are compulsory.
2 Part A is compulsory for all candidates.

3 Part B has two options i.e. (1) Analysis of Financial Statements and (2)
Computerized Accounting. You have to attempt only one of the given

options.

4 Question nos. 1 to 10 and 23 — 27 are very short answer type questions carrying
1 mark each.

5. Question nos. 11 - 15and 28 are questions carrying 2 marks each.

6. Question nos. 16 to 20 and 29 are questions carrying 3 markseach.

7. Question nos. 21, 22 and 30 are questions carrying 5 marks each.

8 There is no overall choice. However, an internal choice has been provided in
2 questions of two marks, 2 questions of three marks and all questions of Five
marks.

TIA AT

1. 30 Jo7 97 H gl 19T & - U 3N & 797 g7 A 30 597 &1 T 797
sifaart &1

2. HITT T FH 3FHIGANT @& fo1w sifaard &/

3. 79T & H &l faweq & Ula (1) AT f@avon &1 faeevor sk
(2) FFGRIDA cidlehat| 9P a0 T [@hedl A & el v @l §ol Fel
&1

4. go7 G&gr 1 & 10 3R 23 & 27 dFfogs god & gcdaF & fav 1
3 AR & 1

5. goT F&gr 11 & 15 3R 28 311 o7 31T 97 &, qcdah & foiv 2 3%
fFeiRRer &1

6. go7 F&AT 16 & 20 3N 29 &g 3T 997 8, g3 & [v 3 37l FeiRa
&1

7. JoT HE&IT 21, 22 3N 30 &1 3T q97 & gcde & fo1v 5 He AR &1
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8. THIT &9 & Fis faFeq 781 &1 greiia, al 3id & 2 goa H Al 3 F 2

1.

go7l H 3 gra 3 & G geAl A TF AR faFeT et faar arar &/

Part- A
HTI-3T

(Accounting for Partnership firms and Companies)
(e Al 3R Fufaat & Rv ddisd)

The relation of partner with the firm is that of : 1
(A)An Owner space  (B) AnAgent (C) An owner and agent (D) manager

AISiER &7 B O FFaT 8l &
(3)TATAT T (§) Tolc &1 (F) @A 3R Toic &1 (§) Ja9s Fl

A, B and C are partner sharing profits In the ratio of 4:2:1. if the new ratio of B & C is 3:1 on the retirement
of A, then what will be the gaining ratio? 1
(A)3:13 (B) 13:3 (©)3:1 (D) 12:5

3, 9 3R F 4:2:1 & A H A Sied §U AHER &, Tl 37 F 3ahIer JgT el W F
3R A HT AT AT 3:1 § @Y S GIied 3T 4T gam?

(31)3:13 (s 13:3 () 3:1 () 12:5
When new partner brings goodwill in cash it is credited to: 1
(A)His capital A/C

(B) Sacrificing partner’s capital A/C
(C) Old partner’s capital A/C
(D) All partner’s capital A/C

ST T TR EI1fd &7 AR e offdr g o 34 shise fhar Sream:
(3138 Ieir @ A

(&) M A dlel ASIGR & Yoll T H

(/) W VSR & Got @il 7

(3) Tl ATSERT & o @rdr H

3
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4. Partnership is formed by

grEerY & AT E'@IRT.@HT%I

5. In which condition a partnership firm is deemed to be dissolved? 1
(A)On a partner’s admission
(B) On retirement of a partner

(C) On expiry of the period of partnership
(D) On loss in partnership

AISIERT B &l THYT fhd gem H AT S1dr 87
(31)TTEER &7 94T gl W

(§) fheY TEIGR & 3GRIT AGUT Hled T

(@) Gy & R AT gl W

(&) TP 7 gl gt |

6. Assertion (A): Loan from partner is not transferred to realization account 1
Reason (R) : Loan from partners is not an external liability. It is paid before the payment of partners' capital.

(A)Both (A) and (R) is true, but (R) is not a true explanation of Assertion (A)
(B) Both (A) and (R) is true, and (R) is a true explanation of Assertion (A)
(C)Both (A) and (R) are false

(D)(A) is false, but (R) is true

Assertion (A): TSGR ¥ KUT &1 agell WA H AR A1 a1 ST § |

Reason (R): TSGR & HUT Ush dled I¥cd =16l ¢ | $8 ABERT dI Goll & $aTdlel & Tgel
et fohar STl § |

(302t (A) AT (R) T §, We (R) faavor (A) T #Er =grear «1g7 ¢ |
() aT (A) 92T (R) FF &, 3R (R) fAaRoT (A) T T carear § |

(&) Gl (A) AT (R) FEH F |

(@) (A) 31T 8, Wed (R) HA & |

7. On the death of a partner, the amount due to him will be credited to? 1

4
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8.

10.

11.

12.

fohdll AgIER & FY gl W 3FH T QU AR fohdreh @i & hise & swai?

Assertion (A): A company has a perpetual succession. 1
Reason (R) : The bankruptcy or death of any shareholder does not affect the existence of the company.
(A)Both (A) and (R) is true, but (R) is not a true explanation of Assertion (A)

(B)Both (A) and (R) is true, and (R) is a true explanation of Assertion (A)

(C)Both (A) and (R) are false

(D)(A) is false, but (R) is true

Assertion (A): Teh HUell Pl RaX 3ded (perpetual succession) BT & |

Reason (R): TehdT 372 &Ry & feaTforar gl 31Ual Heg & U=l & 3Teclcd W HIg THI 0
RECIN

(31) cIl (A) TAUT (R) H 8, W] (R) TaaRor (A) T HET sqredT 767 ¢ |
(§) a1 (A) 92T (R) ET &, 3R (R) AaRoT (A) T T carear § |

(#) St (A) TAUT (R) 38T § |

(@) (A) 38T 8, Wed (R) T ¢ |

Which capital is not shown in the Balance Sheet? 1

it & It Ul faeror & =€t fewrs el &2

Interest paid on debentures is expenditure. 1

FOT 937 R &A1 -7 A1 STg Bl ¢ |

Give any two points of distinction between a share and a debenture. 2

37 F FHOTIAT H &Is g 3R QT |

The partners of a firm A, B and C distributed the profits for the year ended 31* march 2023, . 80,000 in the
ratio 3:3:2 without providing for the following adjustment: 2
(a) A and C were entitled to a salary of ¥ 1500 each p.m.

(b) B was entitled for a salary of ¥ 4000 p.a.

pass necessary journal entry for the above adjustment in the books of the firm, show working clearly.

Tdh BH & TSGR A, B 3R ¢ & garT 31 AT 2023 & AT glet dtel a¥ & forw foar
fAFfaf@d gaArST T 280,000 & ofe & 3:3:2 & 3HeJard # Sier I1:

(31) A 3R c %1500 9fd A adeT 9Tt & gheR o |

(§) B 4000 9T ¥ ddel 9Tl I gheR AT |
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13.

14.

15.

16.

B T qEAhT H IWIFT FATIIST & [T 3HEeTh Sfoel TAE ol a, T &7 & S
faaxor fea@m|
OR 3Ydl

Write the two differences between fixed capital account and fluctuating capital account.

TS ot T 3R =Tl ol @rd 7 & 3R fof@n |

Average profit of the last few years are ¥ 80000 and the normal rate return in a similar business is 10%. If
the goodwill of the firm is ¥ 1,00,000 at 4 year’s purchase of super profit, find the capital employed by the
firm. 2

fod o aul @ 3Hed @Ter 2800008 3N HHAT a8 & AT X Reel 10% 8] I 49
& T T Tle W A H TAT X1,00,000 §, a1 B E@RT AT Goit A S|
OR 37¥dl

Explain two characteristics of Goodwill.

T Fr g faAwansit &r quid Y |

A and B are partners sharing profits in the ratio of 3:2. They admitted C in to the firm for 3/7™ profit, which
he takes 2/7th from A and 1/7" from B. C brings 60000 for his share of goodwill and % 2,00,000 for his
capital.

Give necessary Journal entries. Also calculate new profit-sharing ratio. 2

AR B,3:2 & 3HeIUrd & o1 Sicel dlel AR 8| 3ogiel CHI 3/7 oM & U $A H affAe
forar, IS err ag AT 2/7 3R BH 1/7 HT9T T &1 C 39« g&d Fir Tarfa & faw 260000 31K
HYT golt & eI X2,00,000 ol B

HERTh SoTel FTATETT Y| FT of1eT TqeaToTer 3eqared hr off Irorer |

Name four item which are credited to the account of a deceased partner while calculating the amount due to
his legal representatives. 2

3 IR Al & A fAf@T S Aded WEigR & Faftnial & g Ui i e & & fov
38 WId & Hisc HI ar & |

Pass the necessary journal entries in the following condition:
400 shares of X 10, on which X 8 has been called and % 6 has been paid are forfeited. Out of these, 300 share
are re-issue for X 7 as fully paid. 3

farafafaa fufa # smaas soia vfafear aia &<

X103 400 W, TIF W I8 AN T § 3R 6T A a1 a1 §, STl Y fAw a0 | goiad
¥ 300 A U7 1A & ®7 A 79 Io: ST fhw 710 g

6

Downloaded from cclchapter.com



17.

18.

19.

Pass journal entries on the dissolution of a partnership firm in the following case: 3
(1) Dissolution expenses were X 1000.

(i1) Dissolution expenses X 1000 were paid by Shyam, a partner.

(ii1))  Realisation expenses amounted to X 1000 were paid by the firm on behalf of a partner.

frafafaa aRTufaal & asie w37 & Jged w Soia ufaftear aia +i:

(i) fJgesT =@g 21000 |
(i)  TaEeeT ST 21000 HT I Teh HFGR I E@RT fhar I |
(i) T WTSIEGR H X & BH G@RT 1000 H1 T TT T AT fohar 2T T |

R limited took over assets of X 560000 and creditors of T 80,000 from S limited. R limited issues 8%
debenture of T 20 each at a premium of 20% as purchase consideration, to S limited.

Calculate the amount of purchase consideration, number of debentures issued by R limited and pass the
necessary journal entries in the books of R limited from the above mentioned information. 3

IR fafAes o ww faf@es @< 560000 HeA &I HYRAT g 180000 & oiieR foiv| IR fafAes
o v fAfAcs & 8% HuraT 320 arel 20% WATH W FT Aed & ®7 #H FAAfAT v |
3Uerd G H T Hed T R a1 3R fAfAes gart HfAd e arw HorgEt @ @
foreprer @ 3R fAfAes & qEahl & raegs Sl gfaftear v |

A and B are sharing profits and losses in the ratio of 2:1 with capitals of T 1000000 and X 500000
respectively on the n 1% April, 2019. Each partner is entitled to 8% per annum interest on his capital. B is
entitled to a salary of X 3500 per month together with a commission of 10% of net profit remaining after
deducting interest on capital and salary and after charging his commission. The profit for the year ended 31
March 2020 prior to calculation of interest on capital but after charging salary of B amounted to X 450000.
show the division of profit, prepare profit and loss appropriation account. 3

37 3R § WIPER § ST el A 2:1 & eI H dicd g 3R 1 3 2019 @ 3R it
$hAT: 10,00,000 3R 5,00,000 § | Tedsh HISGR 3HTell Yoil W 8% dAlNeh sATT Ulel T
3R 8] & 3500 AMfAF ddeT AT o1l # ¥ GOl W AT UG Adel Ud 3HAT HHAIAA
gelel & RATd & olfdl HT 10% FHARNA Uled FT FEFRT & | 31 AT 2020 FHF AT a¥ &
TH, Yoll TR STl oMl o qa Toh] & T dcfel oMl o §Te %4,50,000 | wmet 1 fasmmerer
HIfe, a1 gIfer AR QAT &1 |

OR 3Ydr

Mention any three provisions of the partnership Act, in the absence of partnership deed.
I TG AT IS & o] gl arel Arsieiy 3ffAas i fohegr AT cgaeamsit &
3ol HAT |
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20. A, B and C are partners sharing profit in the ratio of 2:2:1. A retires and after all adjustment relating to

21.

revaluation, goodwill and accumulated profits the capital account of B showed a credit balance of X

1,40,000 and that of C % 1,00,000. It was decided to adjust the capital of B and C in their profit-
sharing ratio. Calculate the new capitals of the partners and record necessary entry for bringing in or
withdrawing cash. 3

A, B3R C2:2:1% 30T A ATH Jicat aTel HBIER &1 ARaTiga giar § 3R
YAH eI, T 3R AR oy & Feafd @l ARG & §c B Yoil @id & X 1,40,000

3R CF 21,00,000 FT ST AV fe@rr AT &1 B 3R C &I Yol I 3eTeh AT FTHTHIOT FdTc
# AT A @1 Ao foram arm| AgieRt i 7S gelt T 90T S AR ST o A
Ao & fOT 39T wiafse e |

Ishu and Vishu are partners sharing profits in the ratio of 3:2. Their Balance sheet as at 31% March 2018 was
as follows: 5

Balance sheet

Liabilities % Assets %
Creditors 66000 Cash at bank 87000
General Reserve 9000 Debtors 42000
Investment Fluctuation 5000 Less : provision

fund For doubtful debts 7000 | 35000
Capitals: Investment (market price

Ishu 231000 19000) 21000
119000 Buildings 98000
Vishu | Plant & Machinery 170000
112000 311000 1311000

Nishu was admitted on 1%t April, 2018 for 1/6™ share on the following terms:

(1) Nishu will bring X 56000 as his share of capital.

(11) Goodwill of the firm is valued at X 84000 and Nishu will bring his share of goodwill in cash.

(i)  Plant and Machinery be appreciated by 20%.

(iv)  All debtors are good.

(v) There is a liability of ¥ 9800 included in creditors that is not likely to arise.

(vi)  Capital of Ishu and Vishu will be adjusted on basis of Nishu’s capital and any excess or deficiency
will be made by withdrawing or bringing in cash by the concerned partner.
Prepare the Revaluation Account, Partners’ Capital Account and Balance Sheet of the firm after the
above adjustment.

8
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39 3R e[ 3:2%F eI H oMeT dicet ATel WSIGR 81 31 AT 2018 FI 3Ty dorg 2fie

3 Yhr A
GEEECE]
aTad N FEqT ?
ALY 66000 ¥ A m 87000
. 9000
AHST I TR 42000
9 3dR-deEd At 5000 geT : Gicaer FHom
gt & T grauT 7000
— | 35000
Y 119000
e 112000 | 231000 fAder (SR Fear 19000) | 21000
AT 98000
wie 3T Fehe 70000
311000 311000

faer &7 1 3T, 2018 Y FAFEATARET el oY 1/60 BEG & AT a1t fobar arar am:

(i) f¥er 3r9eT feed T golf & ®9 & 56000 AT

(ii) o T TATTA &1 Fed 84000 § 3R Y 30l FE 1 Tl aohe A wmeam|

(i) GIF 3 AWM i Feradr 20% S ST

(iv) T3 SoTER 375 &

(v) eTaRT # %9800 FI SAGRT fACT & TS 3Icdeet @lel HI THGEA oAl ol

(vi) 3 3R fag) T Ioit &l @AY A goll & IR R ARG fhar Seen 3R g ot
3faRerd a1 AT FETT ASIER GIRT Fehdl fHAehleleht AT SllehT i STeaf|

SWIFd FARNSHT & &G B HT e odichel G, AISIGRT &7 Yoil @rar 3R dod e
IR &Y |

OR 3Ydr

Why are the assets and liabilities revalued on the admission of a partner? with the help of imaginary
figure prepare a revaluation account.

Tsh FISIER & YAl & §HI GOl TUT eridcal &7 Yeadledichad @l fohar Siram g2
HleUfcieh Hal T TR A YeAHcdiche] Tl T |

22. Royal Ltd invited applications for issuing 2,00,000 equity shares of X 10 each at a premium of 25% payable
with application. Applications for 4,50,000 shares were received. Applications for 1,00,000 share were

9
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rejected and money refunded. Pro-rata allotment was made to the remaining applicants. The amount per
share was payable as follows:

On Application : % 4 per share including premium

On Allotment : % 3.50 per share

Balance on first and final call.

Excess application money received with applications was adjusted with some due on allotment.
Application money in excess of some due on allotment, if any, was refunded. Raghu who had applied for
7000 shares failed to pay allotment money. His share were forfeited immediately after allotment. Afterwards
the first and final poll was made.

Nandan, who had applied for 10,500 share, failed to pay the first and final call. His share were also
forfeited. All the forfeited share were reissued at X 11 .50 per share fully paid up, to Meeta.

Passs journal entries for the above transactions in the books of Royal Limited by opening call-in-arrears

account. 5

Iger fAfAes F e & Ty 2T 25% WA 9 210 F 2,00,000 3Fad I IR &
& forw et ARG f6ul 4,50,000 MR & AT 3desT 9red gel 1,00,000 MR & fow
e @RS R T 1w 3R FAT argw T feam 97| AW ITdeh! FI JALIT 3ae fohar
IAT| gfe AW AR fAFArgar < or:

3T | Wfags afed 24 9fa =R
3Tded W 23.50 9fd =R
JhraT AT ggelr 3R a7 Fiad W

3aear & @Y e AR rdest TR H e W ST $o TR & QY ARSI fham
I T
e W &7 $o RN @ 3f8F 3rdest iR, 3 g gl arad & & 715 Y| g, 5@t 7000
MR & AT 3rdest FhAT T, 3desT AR HT AT el H faher @1l 3Mde & R dIa
3otenT feEar Sted &Y fordm a:T| 38 a1 Ggenr AR 3ifad Irger ARl 75

sfeet, forgel 10,500 R & AT 3mdest frar ar, ugelr 3R 3ifas Irae &1 sferae aer A
fawer TgTl 3Hepr REam off Stecd & foram M| Ste fhw v @eft Qw <11.50 9 X qoT
AT R AT Y B & I Y e a1

HIT-3oT-TRIAT Wi WielehR ATl [ATAS &l GEThl H IR defeed & [T Sorer glafsear
9 & |

OR 3Ydr

According to Section 52(2) of the Companies Act 2013, for what purposes the amount of security premium
can be used only?

HEGAT JfRATATHA 2013 dr URT 52(2) F AR FiAfy NATH v AR 1 g23er foved et
& forw & fonam ST Aehar 87

10
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Part — B
ATT-9
(Analysis of Financial statements)

A RaRon &1 faeewor

23. Give any one limitation of financial statements.

fadig faavolt &7 #1g v drar A |

24. The Balance sheet provides information about financial position of an enterprise:
(A)Over a period of time (B) During a period of time

(C)For a period of time (D) At a point of time
P faawor dwar &1 oy fufd & v & goer vee & &

(3NTHAT-3ET & I (§) FHAI-IAD & SR
(@) FA-3E™ & for  (g) FARed gag w

25. Under which activities is the sale of non-current investments shown?

IR e Rfaet & fea & Hia & franst & iaea fwa § 2

26. Assertion(A): A ratio of 2:1 is considered the ideal running ratio.
Reason(R) : A quick ratio of 1:1 is considered the ideal quick ratio.

(A)Both (A) and (R) is true, but (R) is not a true explanation of Assertion (A)
(B)Both (A) and (R) is true, and (R) is a true explanation of Assertion (A)
(C)Both (A) and (R) are false

(D) (A) is false, but (R) is true

Assertion (A): 2:1 & 3TeJdTcl ol 3TGET e[ AT HAT ST & |

Reason(R) : 1:1 & SMEr 3eIUTeT 1 3MMeeT <Mer 31T AT S B
(31) Q=T (A) TAUT (R) HA 8, W (R) Tavor (A) T FET AT 7761 7 |
(8) aT (A) TAT (R) TF &, 3R (R) faaRor (A) HT T s7rer ¢ |

(#) el (A) TAT (R) 38T ¢ |

11
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27.

28.

29.

30.

(@) (A) 3T 8, Wed (R) T ¢ |

Return on Investment fTAfaAT UT M @T =  net profit before interest and tax X 100 1

Write to characteristics of financial statement. 2

foir faazont $r ar advae @ |

Net profit after interest and tax X 100000, Current assets X 400000, Current liabilities ¥ 200000, Tax rate
20%, Non-current Assets X 600000, 10% Long term debts I 400000.
Calculate Return on Investment. 3

SIS 3R T & S1E Yy T8 < 100000, ATl HART X 400000, TTef SASTRAT X 200000, FI HT &I
20%, IR-TTe] {ATT X 600000, 10% ETEIhIToleh UT X 400000
g W Reat & a0 |

OR 3roaT

Write three differences between current ratio and quick ratio.

dlef I R e 3o & ST AT IR fAf@w |

Charles Limited made a profit of X 1,00,000 after charging depreciation of X 20,000 on assets and a transfer
to General Reserve of X 30,000. The goodwill return off was X 7000 and the gain on sale of machinery was X
3000. The other information available to you (changes in the value of current assets and current liabilities) is
as follows:

At the end of the year trade receivables showed an increase of X 6000, trade payables an increase of X
10000, prepaid expenses an increase of X 200 and outstanding expenses a decrease of X 2000. Ascertain the
cash flow from the operating activities. 5

ey fffies & @l 9 220,000 &1 HeIerd 3R 30,000 1 okl Rold H FURIT
& &g X1,00,000 T 1 AT T aradr 17000 A AR AR hr foshr 9T @87 <3000
g7l 39S fAT IUeTs 3 ST (FdART IREUfIE R adA e Soaaiar & qea
gRade) 39 9K &

ay & 3 H YR WoT # 6000 T Fefe, SR &I H X 10000 T Fefe, 3HF =aF # <
200 T geftr 3R ThrT T H 2000 AT HAT GG TS| GRS afAfAfGt @ FARdr varg H
Il ST |

OR 3Ydr

Write any five uses of preparing cash flow statement.

12
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s Jarg [AROT IR el & $Ig 9 39T ff@u |

Part — B
(Computerised Accounting)

23. what is computerised accounting?

HFGchd oldehel FT & ?

24. Tables must have at least columns.

o3 & & & &4 EAFH Gl 3TaTH ¢ |

25. What are the features of computerized accounting?
(A) storing data (B) generate quick reports

(C) group of different accounts (D) All of the above
HFEGEDd AWiehel I FAT fAAVATT § 2

(37)31ET I TER FeTl

(¥) STedr RAIE AR Hger

(#) TaffiesT @rdt &1 "Hg (G) 3T T
26. What is the formula to store the values of cells A1, A2, A3?

(A) Sum= (A1+A2+A3) (B) Sum (A1,A2,A3)

(C) =Sum (A1 : A3) (D) none of these

ALA2,A3 Bl & dog I STHT el & FF F4T § ?

(37) Sum= (A1+A2+A3) (&) Sum (A1,A2,A3)
(") =Sum (A1 : A3) (&) none of these
27.Datais :
(A) information (B) set of facts
(C) both (A) and(B) (D) none of these
3T ¢
(37)e@=T (@) @t & wag

13
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(&) (31 3R (@) Q= (&) 3T § HIg A&

28. Name any four operating procedures used in computerized accounting.

HFEGThd AWIehel H AT glel Tl fohedl TR HaTeld YihAT & A1 faf@w

C

29. Explain three functions of spreadsheet?

Tsfie & die Ff &1 guia fIfSw |

OR 3Ydr

Explain three components of MS-Access.

THTH-UFAT & dlel Gl &I ATEAT Hil

30. How does a spreadsheet differ from a grid?
wise @5 & &8 e g2
OR 3Yd1

Describe the different ways of creating a report.

T RUE s & e ader &1 aua fHifaw |
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